

Abai Omolola Mary
Chemical Engineering

15/ENG01/001

ENG 381

2. $y = x^3 e^{4x}$
find y^5

Solution

$$u = e^{4x} \quad v = x^3$$

$$y^5 = u^5 v + 5u^4 v' + 10u^{(5)} v^2 + 10u^{(2)} v^{(3)} + 5u' v^4 + u v^5$$

$$y^n = u^{(n)} v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v^2 + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v^3 + \dots$$

differentiating u and v

$$u = e^{4x}$$

$$u' = 4e^{4x}$$

$$u'' = 16e^{4x}$$

$$u^3 = 64e^{4x}$$

$$u^4 = 256e^{4x}$$

$$u^5 = 1024e^{4x}$$

$$v = x^3$$

$$v' = 3x^2$$

$$v'' = 6x$$

$$v^3 = 6$$

$$v^4 = 0$$

$$v^5 = 0$$

$$y^5 = 1024e^{4x} \cdot x^3 + 5(4e^{4x})^5 / 3x^2 + 5(256e^{4x}) 3x^2 + 5(5-1) \cdot 64e^{4x}$$

$$6x + \frac{5(5-1)(5-2) \cdot 16e^{4x} 6}{3!} + \frac{5(5-1)(5-2)(5-3) 4e^{4x} (0)}{4!}$$

$$y^5 = 1024e^{4x} x^3 + 3840e^{4x} x^2 + \frac{5(4)}{2!} 64e^{4x} + \frac{5(4)(3)}{3!} 96e^{4x}$$

$$+ \frac{5(4)(3)(2) 4e^{4x} (0)}{4!}$$

$$y^5 = 1024e^{4x} x^3 + 3840e^{4x} x^2 + 3840e^{4x} + 960e^{4x} + 0.$$

$$3. x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

Solution

$$\overset{w_1}{x^2} y'' + \overset{w_2}{x} y' + \overset{w_3}{1} y = 0$$

$$u = y^2$$

$$u^n = y^{(n+2)}$$

$$u^{(n-1)} = y^{(n+1)}$$

$$u^{(n-2)} = y^{(n)}$$

$$v = x$$

$$v^n = y^{(n+1)}$$

$$v^{(n-1)} = y^{(n)}$$

$$v = x^2$$

$$v = x$$

$$v' = 2x$$

$$v'' = 0$$

$$v''' = 2$$

$$v^{(4)} = 0$$

$$w_1^{(n)} = y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2!} y^{(n)} \cdot 2 + 0$$

$$w_2^{(n)} = y^{(n+1)} x + n y^{(n)} \cdot 1 + 0$$

$$w_3^{(n)} = y^{(n)}$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^n + x y^{(n+1)} + n y^{(n)} + y^{(n)} = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} [2xn + x] + y^n [n(n-1) + n + 1] = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} [x(2n+1)] + y^n [n^2 - n + n + 1] = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + y^n [n^2 + 1] = 0$$

Name: Abasi Omolola Mary.
 Department: Chemical Engineering
 Matric Number: 15/ENGG01/001
 Course Code: ENGG 381

$$y = e^{x^2} + x$$

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = (2x+1)(2x+1)(e^{x^2+x}) + 2e^{x^2+x}$$

$$y''' = (2x+1)(2x+1)(e^{x^2+x}) + 2(e^{x^2+x})$$

$$y = e^{x^2+x} \quad y' = (2x+1)e^{x^2+x}$$

$$y'' = (2x+1)(y''') + 2(y''')$$

$$y'' = 2x+1(y''') + 2(y''')$$

$$y'' - 2x+1(y''') - 2(y''') = 0$$

$$\underbrace{y^{(2)}}_{w_1} - 2x+1 \underbrace{(y^{(3)})}_{w_2} - 2 \underbrace{(y^{(3)})}_{w_3} = 0$$

$$w_1^{(n)} = y^{(n+2)}$$

$$w_2^{(n)} = y^{(n+1)}(2x+1) + ny^n(-2)$$

$$w_3 = y^{(n)}$$

$$y^{(n+2)} - [y^{(n+1)}(2x+1) + ny^n(-2)] - 2y^{(n)}$$

$$0 = y^{(n+2)} - y^{(n+1)}(2x+1) - 2ny^n - 2y^{(n)}$$

$$0 = y^{(n+2)} - y^{(n+1)}(2x+1) - [2ny^n + 2y^{(n)}]$$

$$0 = y^{(n+2)} - y^{(n+1)}(2x+1) - 2y^{(n)}[n+1]$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2y^{(n)}[n+1]$$

$$y^{(n+2)} = 2x+1(y^{(n+1)}) + 2(n+1)[y^{(n)}]$$